Length

4. Joe the ant walked the path shown 9.
by the red dotted line. How far did

he walk?
O 60cm O 163cm

10.
O 100cm O 122cm

Name: Date:
1. How many centimetres in one 6.  Which is the greatest length?
memres O 65cm O 2m
O 1 O 100
O 1m8m O 125mm
O 10 O 1000 7. 50mm + 10mm =
O 60cm O 6m
2. 500 centimetres equals metres.
O 60m O 6cm
blue line
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3. How long is the ré&..p.é-ﬁCH? 8. How long is the blue line?
O 10cm O 19cm O 8lcm O 87cm
O 15cm O 20cm O 85cm O 90cm

2 metres and 58 centimetres (2m +
58cm) equals how many centimetres?

e

364centimetres is equal to:

3m + cm

5. How many millimetres (mm) equal S5cm?
O 50mm O  500mm

O 5mm O 55mm
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